T oA a2 —4x+3 7 2x2 - 3x-9 9

O x-1 @ 2x-3
@ 2x+3 (@)x—S

¥ —dx+3=(x-3)(x-1)
2x2 —=3x-9=(2x+ 3)(x - 3)




3x% + (3a+ 16)x — 6= V23l SFH (x4 b)(3x—2) 7F Fr}. o] of,
e a+b o 32

@ -3 @ -1 @0 @ 2 ® 3

B ~
(x+b)(3x—2) =3x*> + (-2 + 3b)x - 2b °| B2

3x% + (=2 +3b)x — 2b = 3x* + (3a + 16)x — 6

—2b=-6, .b=3

-2+3b=3a+16, ..a=-3

La+b=0




3. x+3°x-x+aldeLd ], a2

@-12 @ 03 @4 ® 12

B

x+30lx2-x+af dFolBR2 2 —x+a=(x+3)(x+0DO)
= J2sf H

FHA x+3=022 5h= x 3 -3 S HUsHA
(=3)2=(-3)+a=0

Sa=-12
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© a-b

© a?b
@ a(a+Db)

@ ab?
® a+b




x-y=A & A8stH
(x=y)(x-y+6)+9=A(A+6)+9
=A%+6A+9
=(A+3)°
= (x—y+3)°




V6 o 24 B2 a et @ W, a® +da+4 9 P& oot

2<V5<30|B2 g=+5-2
natt+4da+4=(a+2)?%=(V5-2+2)?
= (V5> =5
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4x% 4 oOx + 16 o] SHAFA o] H uj, o]

O (2x+1)2 @ (2x+2)?
@) (2x + 412 ® (2x25)2

(2x+4)? = 4x? + 16x + 16




Sf&Al o]-§5ke] 132 - 122 = 13+ 12 2 A{tst3int. of of,

® a®+ 2ab+ b* = (a + b)?
@ a*-2ab+b* = (a-b)*
@)a?-b* = (a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx?® + (ad + bc)x + bd = (ax + b)(cx + d)

132 -122 = (134 12)(13-12) = 134+ 12 =25
webA] o] g8 FALL o - b? = (a+ b)(a—b) °IFh.




10. a-b=1,a*-bp>=4<d W, a+b 9 327

@1 @ 2 @ 3 @4 ® 5

a’*-b*=(a+b)a-b)=(a+b)x1=4
La+b=4




